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LSE-07 : TAXONOMY AND EVOLUTION

Time : 2 Hours Maximum Marks : 50

Note : (i) Question No. 1 is compulsory.

(i1) Attempt any four questions from
Question Nos. 2 to 6.

(it1) Attempt five questions in all.

(iv) All questions carry equal marks.

1. (a) Fillin the blanks : 4x1=4

(i) The science of identifying naming
and classifying all organisms is

called .................. .

P.T.O.



(b)

(i)
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A collection of pressed and dried
plants arranged according to some
valid system of  classification

and available for reference 1is

called ................ .

(i11) Absolute age of rocks and fossils can

(iv)

be estimated by ............ dating.

Plants with parallel veined leaves and
embryos with one cotyledon are known

aAS i .

Match the items given in Column A with

those given in Column B : 2
Column A Column B

(1)  Geological (1) Darwin
Chronology

(i1) Mousterian (2) Theophrastus
Tool Industry

(111) Origin of (3) Neanderthal
Species Man

(iv) Historia (4) Era, periods

Plantarum and epoch



(©
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State whether the following statements are

True or False : 4x1=4

(1) Vermiform appendix in humans is a

vestigial organ.
(1) Yeast belongs to kingdom Monera.

(i11) Co-evolution signifies the coordinated

evolution of two or more species.

(iv) Monocots have trimerous flowers.

2. Differentiate between the following : 2§X4:10

(a)
(b)
(©
(d)

3. (a)

(b)

Mollusca and Arthropoda

Beta and Gamma taxonomy

Monoecious plants and Dioecious plants
Mendelism and Darwinism

Discuss the importance of morphological
evidences in taxonomy. 5

Describe the use of cytological data in

taxonomy. 5

4. What 1s Speciation ? Discuss in detail

mechanism of speciation. 2+8

P.T.O.
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5. Write short notes on any two of the following :

(a)
(b)
(©
(d)

(b)

5x2=10
Homo erectus
Fossils
Role of Botanic garden in taxonomy

Haeckel’s law

Describe the basis of natural selection in

evolution. 5

What is classification ? Discuss the merits
and demerits of Bentham and Hooker’s

system of classification. 5
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